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=30
el dLFAIE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 10,800
s 25,200
01 Al&H| 36,000 50,000 14,000
NEAZZ AL 36,000,000& 36,000
= 10,800
o 25,200
HEEFY 20,000 10,000 10,000
401 Al HIZ S OHbI 20,000 10,000 10,000
01 AlZ2H| 20,000 10,000 10,000
NELE 22T FXE S
20,000,000& 20,000
SHIZ A=A (LB HE) 500,000 0 500,000
= 300,000
= 200,000
401 Al HIZL 201 500,000 0 500,000
= 300,000
[Ea 200,000
01 AlZH| 500,000 0 500,000
NEd 22X oty=s4 K (2024)
500,000,000& 500,000
s 300,000
s 200,000
HYRAZH (AL S 9,120 7,950 1,170
Jl=3H| 9,120 7,950 1,170
Jl=23H] 9,120 7,950 1,170
201 eer23y| 1,320 1,350 A30
01 AtR2t2lHI 1,320 1,350 A30
NEN2Y ARl 120,000&* 11 1,320
202 04| 4,800 3,600 1,200
01 =LHOHI 4,800 3,600 1,200
NEA2E YR S0
60,0003 x9& +83] 4,320
NSRA GRF8 S0
60,0002 12 +83] 480
203 HF=AY] 3,000 3,000
MU FAZSLIFAI 3,000 3,000
NEASSYRFTHI(1521015H)
250,000 * 128 3,000




